. Sistema métrico decimal
(sumas y restas)

Solucién

s (4 kg 2 Hg 6 Dag) + (7 Dag 64 cg) —» 433.064 cg

4Kg 2Hg 6Dal — 426.000cg
+ 7Dal 64cg — T 7064cg
4kd 3Hg 3Dag 6dg 4cg 433.064 cg

s (79 dl 6.324 ml) + (84 cl 315 ml) — 15.379 m

79dl 6.324ml — 1422 4ml
+  84cl 315ml — T 1155ml
1Dal 51 3dl 7cl 9ml 15379ml

s (582 HI 5 Dal) - (0'67 KI 2'5 HI) - 540 Dal

582HI 5Dal — 6 3 2 Dal
t* 067Kl 25H — ~ 92Dal
S5KI 4 HI 540 Dal

a (582 HI 5 Dal) - (067 KI 2'5 HI) - 513 cl

91 7dl 3c — 973cl
+ 21 26dl N T 460cl
5Dal 11 3cl 513cl
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